BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS JANUARY 23, 2024

LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) HAYDEN PAVING, INC. \$2,278,876.64

2) MC2 CIVIL, LLC \$2,433,672.25

3) ICON GC LLC \$2,620,040.00

\$2,665,564.20 4) TLC CONSTRUCTION CONTRACT SERVICES, INC.

5) JERDON ENTERPRISE, L.P. \$3,124,422.51

CALENDAR DAYS 180/180

I, Micah Kreikemeier, PE, hereby certify these bid tabulations to be true and correct.

MICAH KREIKEMEIER 01/24/2024

FRN F-1386 Page 1 of 17 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

				1) HAYDEN PAVING	G, INC.	2) MC2 CIV	L, LLC	3) ICON G	C LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST T	OTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
CONS	TRUCTION ITEMS								
1	EXCAVATION (ROADWAY) PER TXDOT ITEM NO. 110, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	CY	12862	\$40.00	\$514,480.00	\$13.00	\$167,206.00	\$16.50	\$212,223.00
2	EMBANKMENT (FINAL) (ORD COMP) (TY C) PER TXDOT ITEM NO. 132, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	CY	2287	\$17.00	\$38,879.00	\$20.00	\$45,740.00	\$5.00	\$11,435.00
3	LIME TRT (SUBGRADE) (6") PER TXDOT ITEM NO. 260, DESC CODE 6079, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	7162	\$10.00	\$71,620.00	\$8.00	\$57,296.00	\$6.50	\$46,553.00
4	LIME (HYD.COM OR QK) (SLRY) OR QK (DRY) PER TXDOT ITEM NO. 260, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	111	\$315.00	\$34,965.00	\$350.00	\$38,850.00	\$353.00	\$39,183.00
5	ASPHALT STAB BASE (GR 2) (PG 64) PER TXDOT ITEM NO. 292, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	2971	\$129.00	\$383,259.00	\$160.00	\$475,360.00	\$135.00	\$401,085.00
6	PRIME COAT (MC-30) PER TXDOT ITEM NO. 310, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	GAL	2493	\$5.90	\$14,708.70	\$4.00	\$9,972.00	\$6.00	\$14,958.00
7	D-GR HMA(SQ) TY-D SAC-A PG70-22 PER TXDOT ITEM NO. 340, DESC CODE 6119, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	764	\$170.00	\$129,880.00	\$175.00	\$133,700.00	\$185.00	\$141,340.00
8	D-GR HMA(SQ) TY-B OR D PG64-22 (LVL-UP) PER TXDOT ITEM NO. 340, DESC CODE 6242, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	1174	\$145.00	\$170,230.00	\$165.00	\$193,710.00	\$140.00	\$164,360.00
9	TACK COAT PER TXDOT ITEM NO. 340, DESC CODE 6272, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	GAL	1386	\$5.14	\$7,124.04	\$5.00	\$6,930.00	\$4.80	\$6,652.80
10	TEMPORARY SPL SHORING PER TXDOT ITEM NO. 403, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SF	1760	\$45.00	\$79,200.00	\$25.00	\$44,000.00	\$0.01	\$17.60
11	RC PIPE (CL III) (18 IN) PER TXDOT ITEM NO. 464, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	46	\$80.00	\$3,680.00	\$185.00	\$8,510.00	\$122.00	\$5,612.00
12	RC PIPE (CL III) (36 IN) PER TXDOT ITEM NO. 464, DESC CODE 6008, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	10	\$160.00	\$1,600.00	\$725.00	\$7,250.00	\$216.00	\$2,160.00
13	SET (TY II) (18 IN) (RCP) (4:1) (P) PER TXDOT ITEM NO. 467, DESC CODE 6359, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$1,650.00	\$4,950.00	\$2,500.00	\$7,500.00	\$1,580.00	\$4,740.00
14	SET (TY II) (36 IN) (RCP) (4:1) (C) PER TXDOT ITEM NO. 467, DESC CODE 6450, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$3,150.00	\$6,300.00	\$6,500.00	\$13,000.00	\$2,240.00	\$4,480.00
15	ADJUSTING MANHOLES PER TXDOT ITEM NO. 479, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$750.00	\$2,250.00	\$1,000.00	\$3,000.00	\$25.00	\$75.00
16	CLEAN EXIST CULVERTS PER TXDOT ITEM NO. 480, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00
17	CONC CURB (DOWEL) PER TXDOT ITEM NO. 529, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	81	\$20.00	\$1,620.00	\$35.00	\$2,835.00	\$10.00	\$810.00
18	DRIVEWAYS (ACP) PER TXDOT ITEM NO. 530, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	59	\$45.00	\$2,655.00	\$125.00	\$7,375.00	\$439.00	\$25,901.00
19	CONC SIDEWALKS (4") PER TXDOT ITEM NO. 531, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	10	\$200.00	\$2,000.00	\$300.00	\$3,000.00	\$90.00	\$900.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024

0474-8009 (9.2)

				1) HAYDEN PAVIN	G, INC.	2) MC2 CIVII	L, LLC	3) ICON G	CLLC
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
20	CURB RAMPS (TY 1) PER TXDOT ITEM NO. 531, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00	\$1,010.00	\$3,030.00
21	CURB RAMPS (TY 21) PER TXDOT ITEM NO. 531, DESC CODE 6016, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$1,480.00	\$1,480.00
22	CONC MEDIAN PER TXDOT ITEM, NO. 536, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	9	\$200.00	\$1,800.00	\$300.00	\$2,700.00	\$97.50	\$877.50
23	STEEL CASING FOR 18" SAN SEWER, INCL SPACERS AND END SEALS, COMPLETE IN PLACE	LF	40	\$200.00	\$8,000.00	\$1,000.00	\$40,000.00	\$404.00	\$16,160.00
24	BARRICADES, SIGNS AND TRAFFIC HANDLING PER TXDOT ITEM NO. 502, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	МО	4	\$2,000.00	\$8,000.00	\$9,500.00	\$38,000.00	\$7,650.00	\$30,600.00
25	PORT CTB (FUR & INST) (SGL SLOPE) (TY 1) PER TXDOT ITEM NO. 512, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2888	\$20.00	\$57,760.00	\$50.00	\$144,400.00	\$99.00	\$285,912.00
26	PORT CTB (MOVE) (SGL SLP) (TY1) PER TXDOT ITEM NO. 512, DESC CODE 6025, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2789	\$10.00	\$27,890.00	\$10.00	\$27,890.00	\$18.00	\$50,202.00
27	PORT CTB (REMOVE) (SGL SLP) (TY 1) PER TXDOT ITEM NO. 512, DESC CODE 6049, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2888	\$15.00	\$43,320.00	\$15.00	\$43,320.00	\$34.00	\$98,192.00
28	CRASH CUSH ATTEN (MOVE & RESET) PER TXDOT ITEM NO. 545, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	\$4,000.00	\$8,000.00	\$659.00	\$1,318.00
29	CRASH CUSH ATTEN (REMOVE) PER TXDOT ITEM NO. 545, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$250.00	\$1,000.00	\$2,000.00	\$8,000.00	\$485.00	\$1,940.00
30	CRASH CUSH ATTEN (INSTL) (L) (N) (TL 3) PER TXDOT ITEM NO. 545, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$15,000.00	\$60,000.00	\$35,000.00	\$140,000.00	\$33,500.00	\$134,000.00
31	WK ZN PAV MRK REMOV (W)4" (SLD) PER TXDOT ITEM NO. 662, DESC CODE 6063, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	14608	\$0.90	\$13,147.20	\$0.70	\$10,225.60	\$1.40	\$20,451.20
32	WK ZN PAV MRK REMOV (Y)4" (SLD) PER TXDOT ITEM NO. 662, DESC CODE 6095, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8894	\$0.90	\$8,004.60	\$0.80	\$7,115.20	\$1.40	\$12,451.60
33	IN SM RD SN SUP&AM TY10BWG(1)SA(P) PER TXDOT ITEM NO. 644, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$515.00	\$1,030.00	\$800.00	\$1,600.00	\$716.00	\$1,432.00
34	IN SM RD SN SUP&AM TY10BWG(1)SA(T) PER TXDOT ITEM NO. 644, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	5	\$750.00	\$3,750.00	\$1,000.00	\$5,000.00	\$894.50	\$4,472.50
35	REFL PAV MRK TY I(W)4"(DOT) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	25	\$3.00	\$75.00	\$2.00	\$50.00	\$3.40	\$85.00
36	REFL PAV MRK TY I(W)8"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6036, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1550	\$1.50	\$2,325.00	\$2.50	\$3,875.00	\$2.30	\$3,565.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024

0474-8009 (9.2)

	No.		·	1) HAYDEN PÁV	/ING, INC.	2) MC2 CIV	IL, LLC	3) ICON G	C LLC
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
3	7 REFL PAV MRK TY I(W)12"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6042, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$3.50	\$500.50	\$4.00	\$572.00	\$4.50	\$643.50
3	8 REFL PAV MRK TY I(W)24"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6048, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	129	\$5.50	\$709.50	\$7.00	\$903.00	\$8.90	\$1,148.10
3!	9 REFL PAV MRK TY I(W)(ARROW) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6054, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$300.00	\$1,800.00	\$200.00	\$1,200.00	\$174.00	\$1,044.00
41	0 REFL PAV MARK TY I(W)(WORD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6078, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$300.00	\$1,800.00	\$200.00	\$1,200.00	\$194.50	\$1,167.00
4	1 REFL PAV MRK TY I(Y)24"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6147, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	75	\$6.00	\$450.00	\$8.00	\$600.00	\$27.00	\$2,025.00
4:	2 PAVEMENT SEALER 4" PER TXDOT ITEM NO. 666, DESC CODE 6224, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8611	\$0.30	\$2,583.30	\$0.25	\$2,152.75	\$0.10	\$861.10
4:	3 PAVEMENT SEALER 6" PER TXDOT ITEM NO. 666, DESC CODE 6225, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$0.45	\$3,240.90	\$0.25	\$1,800.50	\$0.10	\$720.20
4	4 PAVEMENT SEALER 8" PER TXDOT ITEM NO. 666, DESC CODE 6226, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1549	\$0.65	\$1,006.85	\$0.35	\$542.15	\$0.10	\$154.90
	5 PAVEMENT SEALER 12" PER TXDOT ITEM NO. 666, DESC CODE 6228, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$1.30	\$185.90	\$0.55	\$78.65	\$0.10	\$14.30
	6 PAVEMENT SEALER 24" PER TXDOT ITEM NO. 666, DESC CODE 6230, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	129	\$2.50	\$322.50	\$1.00	\$129.00	\$0.20	\$25.80
	7 PAVEMENT SEALER (ARROW) PER TXDOT ITEM NO. 666, DESC CODE 6231, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$50.00	\$300.00	\$30.00	\$180.00	\$5.60	\$33.60
	8 PAVEMENT SEALER (WORD) PER TXDOT ITEM NO. 666, DESC CODE 6232, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$65.00	\$390.00	\$30.00	\$180.00	\$5.60	\$33.60
4	9 RE PM W/RET REQ TY I (Y) 4"(BRK)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6312, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1191	\$1.00	\$1,191.00	\$0.50	\$595.50	\$1.70	\$2,024.70
50	0 RE PM W/RET REQ TY I (Y) 4"(SLD)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6315, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7395	\$1.00	\$7,395.00	\$0.50	\$3,697.50	\$1.70	\$12,571.50
5	1 REF PROF PAV MRK TY I(W) 6"(SLD)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6343, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$2.00	\$14,404.00	\$1.25	\$9,002.50	\$2.00	\$14,404.00
5	2 REFL PAV MRKR TY II-A-A PER TXDOT ITEM NO. 672, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	240	\$6.00	\$1,440.00	\$5.00	\$1,200.00	\$9.00	\$2,160.00
5	3 REFL PAV MRKR TY II-C-R PER TXDOT ITEM NO. 672, DESC CODE 6010, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	77	\$6.00	\$462.00	\$5.00	\$385.00	\$9.00	\$693.00
5-	4 PAV SURF PREP FOR MRK (4") PER TXDOT ITEM NO. 678, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8611	\$0.03	\$258.33	\$0.05	\$430.55	\$0.10	\$861.10

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

LJA	JOB NO.		0-	+14-0009 (9.2)					
				1) HAYDEN PA	VING, INC.	2) MC2 CIV	IL, LLC	3) ICON G	C LLC
ITEN	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
55	PAV SURF PREP FOR MRK (6") PER TXDOT ITEM NO. 678, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$0.04	\$288.08	\$0.10	\$720.20	\$0.10	\$720.20
56	PAV SURF PREP FOR MRK (8") PER TXDOT ITEM NO. 678, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1549	\$0.05	\$77.45	\$0.10	\$154.90	\$0.10	\$154.90
57	PAV SURF PREP FOR MRK (12") PER TXDOT ITEM NO. 678, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$0.11	\$15.73	\$0.25	\$35.75	\$0.10	\$14.30
58	PAV SURF PREP FOR MRK (24") PER TXDOT ITEM NO. 678, DESC CODE 6008, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	93	\$0.22	\$20.46	\$0.40	\$37.20	\$0.10	\$9.30
59	PAV SURF PREP FOR MRK (ARROW) PER TXDOT ITEM NO. 678, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$5.25	\$31.50	\$15.00	\$90.00	\$5.50	\$33.00
60	PAV SURF PREP FOR MRK (WORD) PER TXDOT ITEM NO. 678, DESC CODE 6016, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$5.25	\$31.50	\$15.00	\$90.00	\$5.50	\$33.00
61	COMPOST MANUF TOPSOIL (4") PER TXDOT ITEM NO. 161, DESC CODE 6017, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	23584	\$2.00	\$47,168.00	\$1.00	\$23,584.00	\$2.00	\$47,168.00
62	STRAW OR HAY MULCH PER TXDOT ITEM NO. 162, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	23584	\$0.25	\$5,896.00	\$0.70	\$16,508.80	\$0.80	\$18,867.20
63	FERTILIZER PER TXDOT ITEM NO. 166, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	AC	4.88	\$1,200.00	\$5,856.00	\$1,600.00	\$7,808.00	\$1,667.00	\$8,134.96
64	VEGETATIVE WATERING PER TXDOT ITEM NO. 168, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	MG	587	\$25.00	\$14,675.00	\$20.00	\$11,740.00	\$0.01	\$5.87
65	FOCK FILTER DAMS (INSTALL) (TY 2) PER TXDOT ITEM NO. 506, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	517	\$160.00	\$82,720.00	\$55.00	\$28,435.00	\$56.00	\$28,952.00
66	ROCK FILTER DAMS (REMOVE) PER TXDOT ITEM NO. 506, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	517	\$10.00	\$5,170.00	\$30.00	\$15,510.00	\$1.00	\$517.00
67	TEMP SEDMT CONT FENCE (INSTALL) PER TXDOT ITEM NO. 506, DESC CODE 6038, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7051	\$3.75	\$26,441.25	\$3.00	\$21,153.00	\$3.00	\$21,153.00
68	TEMP SEDMT CONT FENCE (REMOVE) PER TXDOT ITEM NO. 506, DESC CODE 6039, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7051	\$1.25	\$8,813.75	\$1.00	\$7,051.00	\$0.80	\$5,640.80
69	PREPARING ROW PER TXDOT ITEM NO. 100, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	STA	30.5	\$325.00	\$9,912.50	\$5,000.00	\$152,500.00	\$9,800.00	\$298,900.00
70	REMOVING CONC (CURB AND GUTTER) PER TXDOT ITEM NO. 104, DESC CODE 6022, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	67	\$10.00	\$670.00	\$10.00	\$670.00	\$16.50	\$1,105.50
71	REMOVING STAB BASE AND ASPH PAV (13") PER TXDOT ITEM NO. 105, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1228	\$10.00	\$12,280.00	\$45.00	\$55,260.00	\$48.50	\$59,558.00
72	REMOV STAB BASE AND ASPH PAV (0" - 13") PER TXDOT ITEM NO. 105, DESC CODE 6155, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	482	\$10.00	\$4,820.00	\$25.00	\$12,050.00	\$48.50	\$23,377.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

LJ/	A JUB NO.		04	74-8009 (9.2)					
				1) HAYDEN PAVING	G, INC.	2) MC2 CIVI	L, LLC	3) ICON G	CLLC
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST T	OTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	3 REMOV STR (SET) PER TXDOT ITEM NO. 496, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$700.00	\$2,100.00	\$433.00	\$1,299.00
7	4 REMOV STR (PIPE) PER TXDOT ITEM NO. 496, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	57	\$20.00	\$1,140.00	\$40.00	\$2,280.00	\$23.00	\$1,311.00
7	75 RELOCATE SM RD SN SUP&AM TY 10BWG PER TXDOT ITEM NO. 644, DESC CODE 6068, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$600.00	\$2,400.00	\$900.00	\$3,600.00	\$388.00	\$1,552.00
7	6 REMOVE SM RD SN SUP&AM PER TXDOT ITEM NO. 644, DESC CODE 6076, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$95.00	\$190.00	\$150.00	\$300.00	\$166.00	\$332.00
со	NSTRUCTION ITEMS SUBTOTAL:				\$1,995,559.54		\$2,112,936.75		\$2,310,077.63
TR	AFFIC SIGNAL ITEMS								
	DRILL SHAFT (TRF SIG POLE) (36 IN) PER TXDOT ITEM NO. 416, DESC CODE 6032, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	28	\$275.00	\$7,700.00	\$300.00	\$8,400.00	\$305.00	\$8,540.00
	2 DRILL SHAFT (TRF SIG POLE) (48 IN) PER TXDOT ITEM NO. 416, DESC CODE 6034, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	22	\$345.00	\$7,590.00	\$350.00	\$7,700.00	\$550.00	\$12,100.00
	3 CONDT (PVC) (SCHD 80) (2") PER TXDOT ITEM NO. 618, DESC CODE 6046, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	235	\$15.50	\$3,642.50	\$16.00	\$3,760.00	\$8.50	\$1,997.50
	4 CONDT (PVC) (SCHD 80) (2") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6047, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	95	\$20.00	\$1,900.00	\$22.00	\$2,090.00	\$18.00	\$1,710.00
	5 CONDT (PVC) (SCHD 80) (3") PER TXDOT ITEM NO. 618, DESC CODE 6053, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	185	\$16.00	\$2,960.00	\$18.00	\$3,330.00	\$20.00	\$3,700.00
	6 CONDT (PVC) (SCHD 80) (4") PER TXDOT ITEM NO. 618, DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$49.00	\$1,715.00	\$50.00	\$1,750.00	\$23.00	\$805.00
	7 CONDT (PVC) (SCHD 80) (4") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6059, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	175	\$24.00	\$4,200.00	\$25.00	\$4,375.00	\$31.00	\$5,425.00
	8 ELEC CONDR (NO. 6) BARE PER TXDOT ITEM NO. 620, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	755	\$1.25	\$943.75	\$1.50	\$1,132.50	\$1.90	\$1,434.50
	9 ELEC CONDR (NO. 4) BARE PER TXDOT ITEM NO. 620, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	20	\$12.00	\$240.00	\$12.00	\$240.00	\$3.50	\$70.00
1	0 ELEC CONDR (NO. 4) INSULATED PER TXDOT ITEM NO. 620, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$7.75	\$271.25	\$8.00	\$280.00	\$3.50	\$122.50
1	1 TRAY CABLE (4 CONDR) (12 AWG) PER TXDOT ITEM NO. 621, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	375	\$2.50	\$937.50	\$3.00	\$1,125.00	\$3.30	\$1,237.50
1	2 GROUND BOX TY D (162922) W/ APRON PER TXDOT ITEM NO. 624, DESC CODE 6010, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$1,200.00	\$4,800.00	\$1,400.00	\$5,600.00	\$1,230.00	\$4,920.00
1	3 ELC SRV TY D 120/240 060 (NS) SS (E) SP (O) PER TXDOT ITEM NO. 628, DESC CODE 6145, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$7,700.00	\$7,700.00	\$8,500.00	\$8,500.00	\$6,000.00	\$6,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

				1) HAYDEN PAVING,	INC.	2) MC2 CIVIL	, LLC	3) ICON GO	CLLC
ITEN	M DESCRIPTION	UNIT	QTY	UNIT COST TO	TAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
14	INSTALL HWY TRF SIG (SYSTEM) PER TXDOT ITEM NO. 680, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$32,000.00	\$32,000.00	\$49,650.00	\$49,650.00	\$42,000.00	\$42,000.00
15	CNT FULL ACTUATED SOLID STATE W/ NEMA CAB PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16	CNT CAB FOUNDATION PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680), COMPLETE IN PLACE	EA	10	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
17	ROD 5/8" X 10' COPPER-CLAD GROUND (CNT ONLY) PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	RADAR DETECTOR PROCESSOR PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	OVERHEAD ILSN, SIGN, FM 830 (78" X 22") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20	OVERHEAD ILSN, SIGN, N TERALYN DR (120" X 22") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
21	OVERHEAD SIGN R3-8 LR (30" X 30") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22	MAST ARM DAMPER PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23	LED RDWY LUMINAIRE (.25 KW EQ) PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24	CRADLEPOINT INTERNET ROUTER PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
25	VEH SIG SEC (12") LED (GRN) PER TXDOT ITEM NO. 682, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$291.00	\$1,746.00	\$300.00	\$1,800.00	\$238.00	\$1,428.00
26	VEH SIG SEC (12") LED (GRN ARW) PER TXDOT ITEM NO. 682, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$306.00	\$306.00	\$325.00	\$325.00	\$238.00	\$238.00
27	VEH SIG SEC (12") LED (YEL) PER TXDOT ITEM NO. 682, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$295.00	\$1,770.00	\$300.00	\$1,800.00	\$238.00	\$1,428.00
28	VEH SIG SEC (12") LED (YEL ARW) PER TXDOT ITEM NO. 682, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$295.00	\$295.00	\$300.00	\$300.00	\$238.00	\$238.00
29	VEH SIG SEC (12") LED (RED) PER TXDOT ITEM NO. 682, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$290.00	\$1,740.00	\$300.00	\$1,800.00	\$238.00	\$1,428.00
30	VEH SIG SEC (12") LED (RED ARW) PER TXDOT ITEM NO. 682, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$290.00	\$580.00	\$300.00	\$600.00	\$238.00	\$476.00
31	PED SIG SEC (LED) (COUNTDOWN) PER TXDOT ITEM NO. 682, DESC CODE 6018, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$727.00	\$1,454.00	\$800.00	\$1,600.00	\$677.00	\$1,354.00
32	BACK PLATE W/ REF BRDR (4 SEC) PER TXDOT ITEM NO. 682, DESC CODE 6049, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$261.00	\$261.00	\$300.00	\$300.00	\$211.00	\$211.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS JANUARY 23, 2024

LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

LUA	ioù io.		0-	1) HAYDEN PAVII	NG, INC.	2) MC2 CIVI	L, LLC	3) ICON G	CLLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
33	BACK PLATE W/ REF BRDR (3 SEC) PER TXDOT ITEM NO. 682, DESC CODE 6060, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$185.00	\$1,110.00	\$200.00	\$1,200.00	\$175.00	\$1,050.00
34	TRF SIG CBL (TY A) (12 AWG) (2 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	850	\$1.80	\$1,530.00	\$2.00	\$1,700.00	\$1.80	\$1,530.00
35	TRF SIG CBL (TY A) (12 AWG) (4 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	440	\$2.00	\$880.00	\$2.20	\$968.00	\$2.80	\$1,232.00
36	TRF SIG CBL (TY A) (12 AWG) (7 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	730	\$2.97	\$2,168.10	\$3.00	\$2,190.00	\$3.70	\$2,701.00
37	INS TRF SIG PL AM (S)1 ARM (28') LUM & ILSN PER TXDOT ITEM NO. 686, DESC CODE 6032, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$16,524.00	\$16,524.00	\$17,000.00	\$17,000.00	\$15,000.00	\$15,000.00
38	INS TRF SIG PL AM (S)1 ARM (36') LUM & ILSN PER TXDOT ITEM NO. 686, DESC CODE 6040, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$18,477.00	\$18,477.00	\$19,000.00	\$19,000.00	\$17,000.00	\$17,000.00
39	INS TRF SIG PL AM (\$)1 ARM (55') ILSN PER TXDOT ITEM NO. 686. DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$34,000.00	\$34,000.00	\$40,000.00	\$40,000.00	\$28,194.37	\$28,194.37
40	PED POLE ASSEMBLY PER TXDOT ITEM NO. 687, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$2,300.00	\$4,600.00	\$2,650.00	\$5,300.00	\$2,100.00	\$4,200.00
41	SCREW-IN ANCHOR FOUNDATION PER TXDOT ITEM NO. 687 (SUBSIDIARY TO TXDOT SPEC. NO. 687	EA	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42	PED DETECT PUSH BUTTON (APS) PER TXDOT ITEM NO. 688, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,243.00	\$2,486.00	\$1,200.00	\$2,400.00	\$750.00	\$1,500.00
43	PED DETECTOR CONTROLLER UNIT PER TXDOT ITEM NO. 688, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$2,500.00	\$2,500.00	\$3,650.00	\$3,650.00
44	BBU SYSTEM (EXTERNAL BATT CAB) PER TXDOT ITEM NO. 6058, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00	\$7,400.00	\$7,400.00
45	RVDS (PRESENCE DETECTION ONLY) PER TXDOT ITEM NO. 6292, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$700.00	\$2,100.00	\$950.00	\$2,850.00	\$9,500.00	\$28,500.00
46	RVDS PRESENCE CABLE PER TXDOT ITEM NO. 6292 (SUBSIDIARY TXDOT SPEC. NO. 6292)	LF	435	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47	RVDS (ADVANCE DETENTION ONLY) PER TXDOT ITEM NO. 6292, DESC CODE 6002), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$750.00	\$1,500.00	\$1,400.00	\$2,800.00	\$9,600.00	\$19,200.00
48	RVDS ADVANCE CABLE PER TXDOT ITEM NO. 6292 (SUBSIDIARY TXDOT SPEC. NO. 6292)	LF	420	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
49	CONDT PVC (SCHD 80) (4") PER TXDOT ITEM NO. 618, DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2690	\$17.00	\$45,730.00	\$17.00	\$45,730.00	\$15.00	\$40,350.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS

JANUARY 24, 2024 0474-8009 (9.2)

			1) HAYDEN PAVING	, INC.	2) MC2 CIV	IL, LLC	3) ICON GO	CLLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST TO	OTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
50 CONDT PVC (SCHD 80) (4") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6059, IN ACCORDANCE WITH THE PLAND AND SPECIFICATIONS, COMPLETE IN PLACE	LF	25	\$66.00	\$1,650.00	\$70.00	\$1,750.00	\$32.00	\$800.00
51 ELEC CONDR (NO. 14) INSULATED PER TXDOT ITEM, NO. 620, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2750	\$0.68	\$1,870.00	\$1.00	\$2,750.00	\$1.40	\$3,850.00
52 GROUND BOX TY 1 (362422) W/ APRON (POLYMER CONC) PER TXDOT ITEM NO. 624, DESC CODE 6018, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	7	\$5,100.00	\$35,700.00	\$5,500.00	\$38,500.00	\$2,650.00	\$18,550.00
53 FIBER OPTIC CBL (SNGLE-MODE) (36 FIBER) PER TXDOT ITEM NO. 6007, DESC CODE 6013, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2880	\$3.00	\$8,640.00	\$3.00	\$8,640.00	\$3.40	\$9,792.00
54 FIBER OPTIC PATCH PANEL (48 POSITION) PER TXDOT ITEM NO. 6007, DESC CODE 6024, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$4,000.00	\$8,000.00	\$4,500.00	\$9,000.00	\$4,300.00	\$8,600.00
TRAFFIC SIGNAL ITEMS SUBTOTAL: BIDDING SUMMARY				\$283,317.10		\$320,735.50		\$309,962.37
SUBTOTAL CONSTRUCTION ITEMS				\$1.995.559.54		\$2.112.936.75		\$2,310,077.63
SUBTOTAL TRAFFIC SIGNAL ITEMS				\$283,317.10		\$320,735.50		\$309,962.37
TOTAL AMOUNT BASE BID				\$2,278,876.64		\$2,433,672.25		\$2,620,040.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

ILC CONSTRUCTION CONTRACT SERVICES, II 5) JERDON ENTERPRISE, L.P.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
CONS	STRUCTION ITEMS						
1	EXCAVATION (ROADWAY) PER TXDOT ITEM NO. 110, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	CY	12862	\$22.00	\$282,964.00	\$22.50	\$289,395.00
2	EMBANKMENT (FINAL) (ORD COMP) (TY C) PER TXDOT ITEM NO. 132, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	CY	2287	\$8.00	\$18,296.00	\$16.75	\$38,307.25
3	LIME TRT (SUBGRADE) (6") PER TXDOT ITEM NO. 260, DESC CODE 6079, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	7162	\$4.00	\$28,648.00	\$11.00	\$78,782.00
4	LIME (HYD.COM OR QK) (SLRY) OR QK (DRY) PER TXDOT ITEM NO. 260, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	111	\$386.00	\$42,846.00	\$360.00	\$39,960.00
5	ASPHALT STAB BASE (GR 2) (PG 64) PER TXDOT ITEM NO. 292, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	2971	\$160.00	\$475,360.00	\$166.00	\$493,186.00
6	PRIME COAT (MC-30) PER TXDOT ITEM NO. 310, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	GAL	2493	\$7.00	\$17,451.00	\$12.00	\$29,916.00
7	D-GR HMA(SQ) TY-D SAC-A PG70-22 PER TXDOT ITEM NO. 340, DESC CODE 6119, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	764	\$212.00	\$161,968.00	\$225.00	\$171,900.00
8	D-GR HMA(SQ) TY-B OR D PG64-22 (LVL-UP) PER TXDOT ITEM NO. 340, DESC CODE 6242, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	TON	1174	\$179.00	\$210,146.00	\$170.00	\$199,580.00
9	TACK COAT PER TXDOT ITEM NO. 340, DESC CODE 6272, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	GAL	1386	\$6.00	\$8,316.00	\$10.00	\$13,860.00
10	TEMPORARY SPL SHORING PER TXDOT ITEM NO. 403, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SF	1760	\$15.00	\$26,400.00	\$58.00	\$102,080.00
11	RC PIPE (CL III) (18 IN) PER TXDOT ITEM NO. 464, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	46	\$182.00	\$8,372.00	\$205.00	\$9,430.00
12	RC PIPE (CL III) (36 IN) PER TXDOT ITEM NO. 464, DESC CODE 6008, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	10	\$442.00	\$4,420.00	\$400.00	\$4,000.00
13	SET (TY II) (18 IN) (RCP) (4:1) (P) PER TXDOT ITEM NO. 467, DESC CODE 6359, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$2,425.00	\$7,275.00	\$3,600.00	\$10,800.00
14	SET (TY II) (36 IN) (RCP) (4:1) (C) PER TXDOT ITEM NO. 467, DESC CODE 6450, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$6,871.00	\$13,742.00	\$6,000.00	\$12,000.00
15	ADJUSTING MANHOLES PER TXDOT ITEM NO. 479, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$650.00	\$1,950.00	\$1,200.00	\$3,600.00
16	CLEAN EXIST CULVERTS PER TXDOT ITEM NO. 480, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$1,543.00	\$1,543.00	\$3,000.00	\$3,000.00
17	CONC CURB (DOWEL) PER TXDOT ITEM NO. 529, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	81	\$27.00	\$2,187.00	\$18.00	\$1,458.00
18	DRIVEWAYS (ACP) PER TXDOT ITEM NO. 530, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	59	\$82.00	\$4,838.00	\$485.00	\$28,615.00
19	CONC SIDEWALKS (4") PER TXDOT ITEM NO. 531, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	10	\$185.00	\$1,850.00	\$131.00	\$1,310.00

FRN F-1386 Page 10 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

				「LC	CONSTRUCTION CONT	RACT SERVICES, II	5) JERDON ENTE	RPRISE, L.P.	
-	ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	20	CURB RAMPS (TY 1) PER TXDOT ITEM NO. 531, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$5,344.00	\$16,032.00	\$1,500.00	\$4,500.00	
	21	CURB RAMPS (TY 21) PER TXDOT ITEM NO. 531, DESC CODE 6016, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$3,816.00	\$3,816.00	\$2,700.00	\$2,700.00	
	22	CONC MEDIAN PER TXDOT ITEM, NO. 536, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	9	\$92.00	\$828.00	\$131.00	\$1,179.00	
	23	STEEL CASING FOR 18" SAN SEWER, INCL SPACERS AND END SEALS, COMPLETE IN PLACE	LF	40	\$1,093.00	\$43,720.00	\$995.00	\$39,800.00	
	24	BARRICADES, SIGNS AND TRAFFIC HANDLING PER TXDOT ITEM NO. 502, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	МО	4	\$6,675.00	\$26,700.00	\$9,700.00	\$38,800.00	
	25	PORT CTB (FUR & INST) (SGL SLOPE) (TY 1) PER TXDOT ITEM NO. 512, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2888	\$79.00	\$228,152.00	\$115.00	\$332,120.00	
	26	PORT CTB (MOVE) (SGL SLP) (TY1) PER TXDOT ITEM NO. 512, DESC CODE 6025, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2789	\$6.00	\$16,734.00	\$27.00	\$75,303.00	
	27	PORT CTB (REMOVE) (SGL SLP) (TY 1) PER TXDOT ITEM NO. 512, DESC CODE 6049, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2888	\$5.00	\$14,440.00	\$41.00	\$118,408.00	
	28	CRASH CUSH ATTEN (MOVE & RESET) PER TXDOT ITEM NO. 545, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	
	29	CRASH CUSH ATTEN (REMOVE) PER TXDOT ITEM NO. 545, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$600.00	\$2,400.00	\$1,000.00	\$4,000.00	
1	30	CRASH CUSH ATTEN (INSTL) (L) (N) (TL 3) PER TXDOT ITEM NO. 545, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$11,400.00	\$45,600.00	\$37,500.00	\$150,000.00	
	31	WK ZN PAV MRK REMOV (W)4" (SLD) PER TXDOT ITEM NO. 662, DESC CODE 6063, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	14608	\$1.00	\$14,608.00	\$1.00	\$14,608.00	
	32	WK ZN PAV MRK REMOV (Y)4" (SLD) PER TXDOT ITEM NO. 662, DESC CODE 6095, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8894	\$1.00	\$8,894.00	\$1.00	\$8,894.00	
	33	IN SM RD SN SUP&AM TY10BWG(1)SA(P) PER TXDOT ITEM NO. 644, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$834.00	\$1,668.00	\$570.00	\$1,140.00	
	34	IN SM RD SN SUP&AM TY10BWG(1)SA(T) PER TXDOT ITEM NO. 644, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	5	\$978.00	\$4,890.00	\$870.00	\$4,350.00	
	35	REFL PAV MRK TY I(W)4"(DOT) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	25	\$2.00	\$50.00	\$3.25	\$81.25	
	36	REFL PAV MRK TY I(W)8"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6036, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1550	\$3.00	\$4,650.00	\$1.40	\$2,170.00	

FRN F-1386 Page 11 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

ILC CONSTRUCTION CONTRACT SERVICES, II 5) JERDON ENTERPRISE, L.P. LINIT COST

			LO		TO I GETTIOLS, II	o) deribert ertrer	u ruoz, z.i .
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
37	REFL PAV MRK TY I(W)12"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6042, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$4.00	\$572.00	\$3.80	\$543.40
38	REFL PAV MRK TY I(W)24"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6048, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	129	\$7.00	\$903.00	\$6.25	\$806.25
39	REFL PAV MRK TY I(W)(ARROW) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6054, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$210.00	\$1,260.00	\$310.00	\$1,860.00
40	REFL PAV MARK TY I(W)(WORD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6078, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$234.00	\$1,404.00	\$340.00	\$2,040.00
41	REFL PAV MRK TY I(Y)24"(SLD) (100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6147, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	75	\$8.00	\$600.00	\$6.25	\$468.75
42	PAVEMENT SEALER 4" PER TXDOT ITEM NO. 666, DESC CODE 6224, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8611	\$0.25	\$2,152.75	\$0.30	\$2,583.30
43	PAVEMENT SEALER 6" PER TXDOT ITEM NO. 666, DESC CODE 6225, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$0.25	\$1,800.50	\$0.45	\$3,240.90
44	PAVEMENT SEALER 8" PER TXDOT ITEM NO. 666, DESC CODE 6226, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1549	\$0.50	\$774.50	\$0.60	\$929.40
45	PAVEMENT SEALER 12" PER TXDOT ITEM NO. 666, DESC CODE 6228, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$1.00	\$143.00	\$1.40	\$200.20
46	PAVEMENT SEALER 24 PER TXDOT ITEM NO. 666, DESC CODE 6230, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	129	\$1.00	\$129.00	\$2.50	\$322.50
47	PAVEMENT SEALER (ARROW) PER TXDOT ITEM NO. 666, DESC CODE 6231, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$18.00	\$108.00	\$50.00	\$300.00
48	PAVEMENT SEALER (WORD) PER TXDOT ITEM NO. 666, DESC CODE 6232, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$18.00	\$108.00	\$60.00	\$360.00
49	RE PM W/RET REQ TY I (Y) 4"(BRK)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6312, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1191	\$1.00	\$1,191.00	\$1.10	\$1,310.10
50	RE PM W/RET REQ TY I (Y) 4"(SLD)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6315, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7395	\$1.00	\$7,395.00	\$1.10	\$8,134.50
51	REF PROF PAV MRK TY I(W) 6"(SLD)(100MIL) PER TXDOT ITEM NO. 666, DESC CODE 6343, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$1.00	\$7,202.00	\$2.20	\$15,844.40
52	REFL PAV MRKR TY II-A-A PER TXDOT ITEM NO. 672, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	240	\$6.00	\$1,440.00	\$6.50	\$1,560.00
53	REFL PAV MRKR TY II-C-R PER TXDOT ITEM NO. 672, DESC CODE 6010, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	77	\$6.00	\$462.00	\$6.50	\$500.50
54	PAV SURF PREP FOR MRK (4") PER TXDOT ITEM NO. 678, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	8611	\$0.10	\$861.10	\$0.02	\$172.22

FRN F-1386 Page 12 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

			ΓLC	CONSTRUCTION CON	TRACT SERVICES, II	5) JERDON ENTE	RPRISE, L.P.
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
55	PAV SURF PREP FOR MRK (6") PER TXDOT ITEM NO. 678, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7202	\$0.10	\$720.20	\$0.03	\$216.06
56	PAV SURF PREP FOR MRK (8") PER TXDOT ITEM NO. 678, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1549	\$0.10	\$154.90	\$0.04	\$61.96
57	PAV SURF PREP FOR MRK (12") PER TXDOT ITEM NO. 678, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	143	\$0.25	\$35.75	\$0.12	\$17.16
58	PAV SURF PREP FOR MRK (24") PER TXDOT ITEM NO. 678, DESC CODE 6008, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	93	\$0.50	\$46.50	\$0.24	\$22.32
59	PAV SURF PREP FOR MRK (ARROW) PER TXDOT ITEM NO. 678, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$15.00	\$90.00	\$6.00	\$36.00
60	PAV SURF PREP FOR MRK (WORD) PER TXDOT ITEM NO. 678, DESC CODE 6016, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$15.00	\$90.00	\$6.00	\$36.00
61	COMPOST MANUF TOPSOIL (4") PER TXDOT ITEM NO. 161, DESC CODE 6017, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	23584	\$1.00	\$23,584.00	\$7.30	\$172,163.20
62	STRAW OR HAY MULCH PER TXDOT ITEM NO. 162, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	23584	\$1.00	\$23,584.00	\$1.26	\$29,715.84
63	FERTILIZER PER TXDOT ITEM NO. 166, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	AC	4.88	\$1,800.00	\$8,784.00	\$525.00	\$2,562.00
64	VEGETATIVE WATERING PER TXDOT ITEM NO. 168, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	MG	587	\$20.00	\$11,740.00	\$43.00	\$25,241.00
65	FOCK FILTER DAMS (INSTALL) (TY 2) PER TXDOT ITEM NO. 506, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	517	\$58.00	\$29,986.00	\$73.00	\$37,741.00
66	ROCK FILTER DAMS (REMOVE) PER TXDOT ITEM NO. 506, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	517	\$30.00	\$15,510.00	\$10.25	\$5,299.25
67	TEMP SEDMT CONT FENCE (INSTALL) PER TXDOT ITEM NO. 506, DESC CODE 6038, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7051	\$3.00	\$21,153.00	\$3.60	\$25,383.60
68	TEMP SEDMT CONT FENCE (REMOVE) PER TXDOT ITEM NO. 506, DESC CODE 6039, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	7051	\$1.00	\$7,051.00	\$1.20	\$8,461.20
69	PREPARING ROW PER TXDOT ITEM NO. 100, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	STA	30.5	\$7,908.00	\$241,194.00	\$1,300.00	\$39,650.00
70	REMOVING CONC (CURB AND GUTTER) PER TXDOT ITEM NO. 104, DESC CODE 6022, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	67	\$7.00	\$469.00	\$13.00	\$871.00
71	REMOVING STAB BASE AND ASPH PAV (13") PER TXDOT ITEM NO. 105, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1228	\$118.00	\$144,904.00	\$36.00	\$44,208.00
72	REMOV STAB BASE AND ASPH PAV (0" – 13") PER TXDOT ITEM NO. 105, DESC CODE 6155, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	482	\$15.00	\$7,230.00	\$18.00	\$8,676.00

FRN F-1386 Page 13 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE #REF!

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024

0474-8009 (9.2)	
TLC CONSTRUCTION CONTRACT SERVICES, II	5) JERDON ENTERPRISE, L.P.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
73	REMOV STR (SET) PER TXDOT ITEM NO. 496, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$270.00	\$810.00	\$725.00	\$2,175.00
74	REMOV STR (PIPE) PER TXDOT ITEM NO. 496, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	57	\$17.00	\$969.00	\$125.00	\$7,125.00
75	RELOCATE SM RD SN SUP&AM TY 10BWG PER TXDOT ITEM NO. 644, DESC CODE 6068, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$300.00	\$1,200.00	\$690.00	\$2,760.00
76	REMOVE SM RD SN SUP&AM PER TXDOT ITEM NO. 644, DESC CODE 6076, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$108.00	\$216.00	\$100.00	\$200.00
CON	STRUCTION ITEMS SUBTOTAL:				\$2,325,781.20		\$2,785,030.51
TRAF	FFIC SIGNAL ITEMS	—					
1	DRILL SHAFT (TRF SIG POLE) (36 IN) PER TXDOT ITEM NO. 416, DESC CODE 6032, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	28	\$324.00	\$9,072.00	\$320.00	\$8,960.00
2	DRILL SHAFT (TRF SIG POLE) (48 IN) PER TXDOT ITEM NO. 416, DESC CODE 6034, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	22	\$402.00	\$8,844.00	\$400.00	\$8,800.00
3	CONDT (PVC) (SCHD 80) (2") PER TXDOT ITEM NO. 618, DESC CODE 6046, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	235	\$18.00	\$4,230.00	\$18.00	\$4,230.00
4	CONDT (PVC) (SCHD 80) (2") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6047, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	95	\$24.00	\$2,280.00	\$23.50	\$2,232.50
5	CONDT (PVC) (SCHD 80) (3") PER TXDOT ITEM NO. 618, DESC CODE 6053, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	185	\$19.00	\$3,515.00	\$18.80	\$3,478.00
6	CONDT (PVC) (SCHD 80) (4") PER TXDOT ITEM NO. 618, DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$57.00	\$1,995.00	\$57.00	\$1,995.00
7	CONDT (PVC) (SCHD 80) (4") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6059, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	175	\$27.00	\$4,725.00	\$26.50	\$4,637.50
8	ELEC CONDR (NO. 6) BARE PER TXDOT ITEM NO. 620, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	755	\$1.00	\$755.00	\$1.40	\$1,057.00
9	ELEC CONDR (NO. 4) BARE PER TXDOT ITEM NO. 620, DESC CODE 6011, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	20	\$14.00	\$280.00	\$13.75	\$275.00
10	ELEC CONDR (NO. 4) INSULATED PER TXDOT ITEM NO. 620, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$9.00	\$315.00	\$8.90	\$311.50
11	TRAY CABLE (4 CONDR) (12 AWG) PER TXDOT ITEM NO. 621, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	375	\$3.00	\$1,125.00	\$2.80	\$1,050.00
12	GROUND BOX TY D (162922) W/ APRON PER TXDOT ITEM NO. 624, DESC CODE 6010, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	4	\$1,408.00	\$5,632.00	\$1,400.00	\$5,600.00
13	ELC SRV TY D 120/240 060 (NS) SS (E) SP (O) PER TXDOT ITEM NO. 628, DESC CODE 6145, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$8,726.00	\$8,726.00	\$8,700.00	\$8,700.00

FRN F-1386 Page 14 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

5) JERDON ENTERPRISE, L.P.

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

ILC CONSTRUCTION CONTRACT SERVICES, II

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS

JANUARY 24, 2024 0474-8009 (9.2)

				LCC	ONSTRUCTION CONTRA	ICT SERVICES, II	3) JERDON ENTER	REKISE, L.F.	
ITEM	DESCRIPTION	UNIT	QTY		UNIT COST TO	OTAL COST	UNIT COST	TOTAL COST	
14	INSTALL HWY TRF SIG (SYSTEM) PER TXDOT ITEM NO. 680, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		1	\$57,128.00	\$57,128.00	\$51,000.00	\$51,000.00	
15	CNT FULL ACTUATED SOLID STATE W/ NEMA CAB PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
16	CNT CAB FOUNDATION PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680), COMPLETE IN PLACE	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
17	ROD 5/8" X 10' COPPER-CLAD GROUND (CNT ONLY) PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
18	RADAR DETECTOR PROCESSOR PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
19	OVERHEAD ILSN, SIGN, FM 830 (78" X 22") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
20	OVERHEAD ILSN, SIGN, N TERALYN DR (120" X 22") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
21	OVERHEAD SIGN R3-8 LR (30" X 30") PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
22	MAST ARM DAMPER PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		2	\$0.00	\$0.00	\$0.00	\$0.00	
23	LED RDWY LUMINAIRE (.25 KW EQ) PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		2	\$0.00	\$0.00	\$0.00	\$0.00	
24	CRADLEPOINT INTERNET ROUTER PER TXDOT ITEM NO. 680 (SUBSIDIARY TO TXDOT SPEC. NO. 680)	EA		1	\$0.00	\$0.00	\$0.00	\$0.00	
25	VEH SIG SEC (12") LED (GRN) PER TXDOT ITEM NO. 682, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		6	\$332.00	\$1,992.00	\$330.00	\$1,980.00	
26	VEH SIG SEC (12") LED (GRN ARW) PER TXDOT ITEM NO. 682, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		1	\$349.00	\$349.00	\$340.00	\$340.00	
27	VEH SIG SEC (12") LED (YEL) PER TXDOT ITEM NO. 682, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		6	\$336.00	\$2,016.00	\$330.00	\$1,980.00	
28	VEH SIG SEC (12") LED (YEL ARW) PER TXDOT ITEM NO. 682, DESC CODE 6004, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		1	\$338.00	\$338.00	\$330.00	\$330.00	
29	VEH SIG SEC (12") LED (RED) PER TXDOT ITEM NO. 682, DESC CODE 6005, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		6	\$332.00	\$1,992.00	\$330.00	\$1,980.00	
30	VEH SIG SEC (12") LED (RED ARW) PER TXDOT ITEM NO. 682, DESC CODE 6006, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		2	\$332.00	\$664.00	\$330.00	\$660.00	
31	PED SIG SEC (LED) (COUNTDOWN) PER TXDOT ITEM NO. 682, DESC CODE 6018, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		2	\$831.00	\$1,662.00	\$830.00	\$1,660.00	
32	BACK PLATE W/ REF BRDR (4 SEC) PER TXDOT ITEM NO. 682, DESC CODE 6049, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA		1	\$298.00	\$298.00	\$295.00	\$295.00	

FRN F-1386 Page 15 of 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024 LJA ENGINEERING, INC. A.CAROTHERS JANUARY 24, 2024 0474-8009 (9.2)

LUA	NOB NO.		047	4-0003 (3.2)					
		ILC CONSTRUCTION CONTRACT SERVICES,					5) JERDON ENTERPRISE, L.P.		
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST		
3	3 BACK PLATE W/ REF BRDR (3 SEC) PER TXDOT ITEM NO. 682, DESC CODE 6060, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$211.00	\$1,266.00	\$210.00	\$1,260.00		
3	4 TRF SIG CBL (TY A) (12 AWG) (2 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6007, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	850	\$2.00	\$1,700.00	\$2.00	\$1,700.00		
3	5 TRF SIG CBL (TY A) (12 AWG) (4 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6009, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	440	\$2.00	\$880.00	\$2.25	\$990.00		
3	6 TRF SIG CBL (TY A) (12 AWG) (7 CONDR) PER TXDOT ITEM NO. 684, DESC CODE 6012, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	730	\$3.00	\$2,190.00	\$3.40	\$2,482.00		
3	7 INS TRF SIG PL AM (S)1 ARM (28') LUM & ILSN PER TXDOT ITEM NO. 686, DESC CODE 6032, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$18,885.00	\$18,885.00	\$18,000.00	\$18,000.00		
3	8 INS TRF SIG PL AM (S)1 ARM (36') LUM & ILSN PER TXDOT ITEM NO. 686, DESC CODE 6040, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$21,117.00	\$21,117.00	\$21,000.00	\$21,000.00		
3	9 INS TRF SIG PL AM (S)1 ARM (55') ILSN PER TXDOT ITEM NO. 686, DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$38,959.00	\$38,959.00	\$38,000.00	\$38,000.00		
4	0 PED POLE ASSEMBLY PER TXDOT ITEM NO. 687, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,282.00	\$2,564.00	\$2,700.00	\$5,400.00		
4	1 SCREW-IN ANCHOR FOUNDATION PER TXDOT ITEM NO. 687 (SUBSIDIARY TO TXDOT SPEC. NO. 687	EA	2	\$0.00	\$0.00	\$0.00	\$0.00		
4	2 PED DETECT PUSH BUTTON (APS) PER TXDOT ITEM NO. 688, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,421.00	\$2,842.00	\$1,420.00	\$2,840.00		
4	3 PED DETECTOR CONTROLLER UNIT PER TXDOT ITEM NO. 688, DESC CODE 6003, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$2,425.00	\$2,425.00	\$2,400.00	\$2,400.00		
4	4 BBU SYSTEM (EXTERNAL BATT CAB) PER TXDOT ITEM NO. 6058, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$10,895.00	\$10,895.00	\$10,800.00	\$10,800.00		
4	5 RVDS (PRESENCE DETECTION ONLY) PER TXDOT ITEM NO. 6292, DESC CODE 6001, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$419.00	\$1,257.00	\$925.00	\$2,775.00		
4	6 RVDS PRESENCE CABLE PER TXDOT ITEM NO. 6292 (SUBSIDIARY TXDOT SPEC. NO. 6292)	LF	435	\$0.00	\$0.00	\$0.00	\$0.00		
4	7 RVDS (ADVANCE DETENTION ONLY) PER TXDOT ITEM NO. 6292, DESC CODE 6002), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$486.00	\$972.00	\$1,300.00	\$2,600.00		
4	8 RVDS ADVANCE CABLE PER TXDOT ITEM NO. 6292 (SUBSIDIARY TXDOT SPEC. NO. 6292)	LF	420	\$0.00	\$0.00	\$0.00	\$0.00		
4	9 CONDT PVC (SCHD 80) (4") PER TXDOT ITEM NO. 618, DESC CODE 6058, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2690	\$19.00	\$51,110.00	\$19.38	\$52,132.20		

FRN F-1386 Page 16 of 17

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE TRAFFIC SIGNAL AND WIDENING OF FM 830 AT NORTH TERALYN HILLS DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

JANUARY 23, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

JANUARY 24, 2024

0474-8009 (9.2)

		TLC C	CONSTRUCTION CON	TRACT SERVICES, II	5) JERDON ENTERPRISE, L.P.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
50 CONDT PVC (SCHD 80) (4") (BORE) PER TXDOT ITEM NO. 618, DESC CODE 6059, IN ACCORDANCE WITH THE PLAND AND SPECIFICATIONS, COMPLETE IN PLACE	LF	25	\$78.00	\$1,950.00	\$77.88	\$1,947.00	
51 ELEC CONDR (NO. 14) INSULATED PER TXDOT ITEM, NO. 620, DESC CODE 6002, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2750	\$1.00	\$2,750.00	\$0.77	\$2,117.50	
52 GROUND BOX TY 1 (362422) W/ APRON (POLYMER CONC) PER TXDOT ITEM NO. 624, DESC CODE 6018, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	7	\$5,998.00	\$41,986.00	\$5,996.00	\$41,972.00	
53 FIBER OPTIC CBL (SNGLE-MODE) (36 FIBER) PER TXDOT ITEM NO. 6007, DESC CODE 6013, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2880	\$3.00	\$8,640.00	\$3.46	\$9,964.80	
54 FIBER OPTIC PATCH PANEL (48 POSITION) PER TXDOT ITEM NO. 6007, DESC CODE 6024, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$4,731.00	\$9,462.00	\$4,730.00	\$9,460.00	
TRAFFIC SIGNAL ITEMS SUBTOTAL:				\$339,783.00		\$339,392.00	
BIDDING SUMMARY							
SUBTOTAL CONSTRUCTION ITEMS				\$2,325,781.20		\$2,785,030.51	
SUBTOTAL TRAFFIC SIGNAL ITEMS				\$339,783.00		\$339,392.00	
TOTAL AMOUNT BASE BID				\$2,665,564.20		\$3,124,422.51	